8. 5+5(x+4)<20

5+5x+20<20
5x +25<20
5x< -5

x<—1

10. 3(x+6) —2(x+ 2)>10

3x+18 —2x— 4> 10
x+14>10

x> —4




13. x+ 1> —5(7—2x) 26x+3)<2x—7
x+1>—35+ 10x 10x +5<2x—7
—9% +1>—-35 8x+5< -7

—9x> —36 w/\/\? 8x < —12 W
x<4 ERR xg—% 'y ’32 g
2x§—%(4x+4) %(—2x—10)>3(4—6x)
—X—5>12— 18x
17x—5> 12

-¢ -1 3
= - 5 17x > 17
x> 1

—5—3x>2(10 + 2x) + 3 18. —3(9x + 20) > 15x — 20
—5—-3x>20+4x+3 —27x — 60 > 15x — 20
—5—3x>23 +4x —42x — 60 > —20

—5—7x>23 —42x> 40
20

—7x > 28 W XS—N
x4 5 2

=




Solve the inequality.
/T\ m
2(3y—-2)-4=3(2y + 7)

%Eq =) 2 oy + 21




Solve the inequality.

2X — 7] =5 4+ Ix

-




Do 19 and 20 with your group.

19. 8(%x — 3) + 24 < 4(x+5)

2x — 24 + 24 <4x + 20
2x < 4x + 20
—2x < 20
x> —10

20. 6x— 2(x+2)>2—3(x+3)

6x— 2x—4>2—-3x—9
4x —4 > —3x— 7
7x— 4> -7
7x> —3
x>—é
7




Task (1-5)







